From:	Amol Punde <amol.punde@charcoalconcepts.com></amol.punde@charcoalconcepts.com>
To:	Saurav Pillai <saurav.pillai@copperchimney.in>; Anju Mehto <maintenance@charcoalconcepts.com></maintenance@charcoalconcepts.com></saurav.pillai@copperchimney.in>
Subject:	FW: Requesting approval for New UPS at CC Worli- Capex
Date:	15.12.2024 14:38:26 (+01:00)
Attachments:	RE_ Need quote for 3 KVA UPS and Battery pack.eml (2 pages)

```
Please raise PR
```

From: Reetesh Shukla <reetesh.shukla@charcoalconcepts.com> Sent: Saturday, December 14, 2024 9:16 PM To: Amol Punde <amol.punde@charcoalconcepts.com> Subject: Fw: Requesting approval for New UPS at CC Worli- Capex

Hi Amol - please proceed.

Best,

Reetesh

Get Outlook for Android

From: Amol Punde <<u>amol.punde@charcoalconcepts.com</u>> Sent: Friday, December 13, 2024 4:24:04 PM To: Reetesh Shukla <<u>reetesh.shukla@charcoalconcepts.com</u>> Subject: RE: Requesting approval for New UPS at CC Worli- Capex

Sir,

Ups standard warranty is one year, and battery warranty is 55 months, it is including on site cover.

Regards, Amol

From: Reetesh Shukla <<u>reetesh.shukla@charcoalconcepts.com</u>> Sent: Friday, December 13, 2024 2:29 PM To: Amol Punde <<u>amol.punde@charcoalconcepts.com</u>> Subject: RE: Requesting approval for New UPS at CC Worli- Capex

Hi Amol - What is the warranty period for the new one?

Best,

Reetesh

From: Amol Punde <<u>amol.punde@charcoalconcepts.com</u>> Sent: 13 December 2024 12:32 To: Reetesh Shukla <<u>reetesh.shukla@charcoalconcepts.com</u>> Subject: FW: Requesting approval for New UPS at CC Worli- Capex

Dear Sir,

Requesting approval on capex expenditure of INR.1,61,916/- towards procurement of 2 new 3 KVA UPS along with battery and racks for CC Worli. The old UPS is not supplying the power the due the faulty interlink connection, Fan Fault and faulty motherboard (reports attached for reference), the cost of repair is 73% of a new unit.

Note- It will be sent to CPT for further negotiation and auction with other vendors.

SI. No.	Description/Item	QTY	Price	Amount	Тах	Total Including Tax
1	BPE 3000VA 230V UPS	2	29000	58000	18%	68440
2	Exide 12Volt / 42 AH SMF Batteries	16	3700	59200	28%	75776
3	Battery Rack, Interlinks	2	5000	10000	18%	11800
4	Freight, Forwarding and Installation	2	2500	5000	18%	5900
			Total		161916	

Regards, Amol

From: Mithilesh Kumar <<u>mithilesh.kumar@copperchimney.in</u>> Sent: Thursday, December 12, 2024 9:45 PM To: Amol Punde <<u>amol.punde@charcoalconcepts.com</u>> Subject: RE: Requesting approval for New UPS at CC Worli- Capex

Warm Regards,

Mithilesh.

From: Amol Punde <<u>amol.punde@charcoalconcepts.com</u>> Sent: Thursday, December 12, 2024 5:40 PM To: Mithilesh Kumar <<u>mithilesh.kumar@copperchimney.in</u>> Subject: RE: Requesting approval for New UPS at CC Worli- Capex

Dear Sir,

This is correct, for battery Tax is 28% and for other equipment tax is 18%.

SI. No.	Description/Item	QTY	Price	Amount	Тах	Total Including Tax
1	BPE 3000VA 230V UPS	2	29000	58000	18%	68440
2	Exide 12Volt / 42 AH SMF Batteries	16	3700	59200	28%	75776
3	Battery Rack, Interlinks	2	5000	10000	18%	11800
4	Freight, Forwarding and Installation	2	2500	5000	18%	5900
			Total		161916	

Regards, Amol

From: Amol Punde Sent: Thursday, December 12, 2024 11:51 AM To: Mithilesh Kumar <<u>mithilesh.kumar@copperchimney.in</u>> Subject: FW: Requesting approval for New UPS at CC Worli- Capex

Dear Sir,

Requesting approval on capex expenditure of INR.1,61,916/- towards procurement of 2 new 3 KVA UPS along with battery and racks for CC Worli. The old UPS is not supplying the power the due the faulty interlink connection, Fan Fault and faulty motherboard (reports attached for reference), the cost of repair is 73% of a new unit.

Regards, Amol

From: Saurav Pillai <<u>saurav.pillai@copperchimney.in</u>> Sent: Wednesday, December 11, 2024 11:34 AM To: Amol Punde <<u>amol.punde@charcoalconcepts.com</u>> Subject: Requesting approval for New UPS at CC Worli- Capex

Dear Sir,

Requesting approval on capex expenditure of INR.1,61,916/- towards procurement of 2 new 3 KVA UPS along with battery and racks for CC Worli. The old UPS is not supplying the power the due the faulty interlink connection, Fan Fault and faulty motherboard (reports attached for reference), the cost of repair is 73% of a new unit.

New UPS				Repair Cost				
SI. No.	Description/Item	QTY	Price	Amount	Description/Item		Price	Amount
1	BPE 3000VA 230V UPS	1	29000	29000	UPS Motherboard repair	1	17000	17000
2	Exide 12Volt / 42 AH SMF Batteries	8	3700	29600	Exide 12Volt / 42 AH SMF Batteries	8	3700	29600
3	Battery Rack, Interlinks	1	5000	5000	Battery Rack, Interlinks	1	5000	5000
4	Freight, Forwarding and Installation	1	2500	2500	Freight, Forwarding and Installation	1	2500	2500
			Total	66100			Total	54100

Regards, Saurav Pillai

From:	Nitin Singhal <nitins@laksh.info></nitins@laksh.info>
To:	Saurav Pillai <saurav.pillai@copperchimney.in></saurav.pillai@copperchimney.in>
CC:	accounts@laksh.info <accounts@laksh.info></accounts@laksh.info>
Subject:	RE: Need quote for 3 KVA UPS and Battery pack
Date:	03.12.2024 14:12:26 (+01:00)

Dear Saurav,

Please find below revised quote.

SI. No.	Description/Item	QTY	Price	Amount
1	BPE 3000VA 230V UPS	1	29000	29000
2	Exide 12Volt / 42 AH SMF Batteries	8	3700	29600
3	Battery Rack, Interlinks	1	5000	5000
4	Freight, Forwarding and Installation	1	2500	2500
			Total	66100
	For 2 UPS	2		132200
	Discount in Delivery			-1000
				131200
GST Extra 28% on Battery and 18% on Rack and UPS				

Thanks & Regards



Nitin Singhal LAKSH IT Solutions & Security Systems Pvt Ltd An ISO 9001:2008 Certified Co. Ph. 011-35609550 Cell :- 09312252563,09717627999

From: Nitin Singhal [mailto:nitins@laksh.info] Sent: 19 November 2024 15:10 To: 'Saurav Pillai' <saurav.pillai@copperchimney.in> Subject: RE: Need quote for 3 KVA UPS and Battery pack

Dear Saurav,

Please find below proposal.

SI. No.	Description/Item	QTY	Price	Amount
1	APC Smart-UPS RC 3000VA 230V (Model No -SRV3KUXI-IN) Warranty 2 Year	1	45000	45000
2	Exide 12Volt / 42 AH SMF Batteries	6	3700	22200
3	Battery Rack, Interlinks	1	5000	5000
4	Freight, Forwarding and Installation	1	2500	2500
			Total	74700
GST Extra	28% on Battery and 18% on Rack and UPS			
	Description/Item	QTY	Price	Amount

SI. No.				
1	BPE 3000VA 230V UPS	1	29000	29000
2	Exide 12Volt / 42 AH SMF Batteries	6	3700	22200
3	Battery Rack, Interlinks	1	5000	5000
4	Freight, Forwarding and Installation	1	2500	2500
			Total	58700
GST Extra	28% on Battery and 18% on Rack and UPS			

Thanks & Regards



Nitin Singhal LAKSH IT Solutions & Security Systems Pvt Ltd An ISO 9001:2008 Certified Co. Ph. 011-35609550 Cell :- 09312252563,09717627999

From: Saurav Pillai [mailto:saurav.pillai@copperchimney.in]
Sent: 18 November 2024 11:02
To: Nitins@laksh.info
Subject: Need quote for 3 KVA UPS and Battery pack

Dear Nitin,

As discussed, please share the quote for 2 3KVA BPE UPS for copper Chinney worli along with battery pack

Regards, Saurav Pillai